[ 30/1
2005

MANAGEMENT

Paper 1

Time 3 Hours | [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. No credit will be given for the
answers written in a medium other than that specified in the
Admission Ticket. In case of any doubt in the Kannada text,

please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All guestions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D.
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301 (2)
PART A dx5=21)
Answer each question in about 50 words. Eqch question carries 5 marks.
1. {a) Distinguish between Strategies and Policies,
(k) What is a Virtual Organization’ ?

(e} What is ‘Opportunity Cost’ 2 How is this relevant for managerial
decisions 7

{d) ‘The median, unlike the arithmetic mean, is not affected by extreme
values. — Discuss.
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10.

PART B 10x10=1u0

Answer each question in about 100 words. Each question carries
10 marks.

In your opinion, what are the most important components fo include In
writing a mission statement for a company ?

As a manager, what criteria will you favour to determine your span of
management ?

What do you mean by ‘Management by Objective (MBOY ? Is it a myth or
a fact that MBO contributes towards the success of an organization °

Describe the ‘Path -— goal” approach to leadership effectiveness.
Distinguish between a ‘Committee’, a “Team’ and a ‘Group’.
What is ‘Trade-off’ ? How is it relevant to decision-making ?

Explain the meaning and uses of ‘Transportation’ and ‘Assignment’
models.

Discuss the methods for estimating a demand function.

Explain the following :
(a) Sensitivity Analysis
(b)  Monte Carlo Simulation Technique

Why is poor delegation of authority often found to be the most important
cause of managerial failure ?
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PART C 6x15=9

Answer each gquestion in  about 150 words. Each question carries
15 marks.

Every employee wants to be recognized for his/her good performance. How
can organizations address the need of employees for recognition ? Explain
with the help of an example.

Consider a situation in which an employee’s superior gives him
instructions to carry out certain tasks that are against his values and
principles. The employee is faced with the dilemma of whether he should
obey his superior’s orders or act according to his personal values and
principles. The employee thus experiences a role conflict. What is role
conflict and what are the effects of role conflict on employees and
organizations ?

Innovation results from thinking. A leader has to continuously encourage
his emplovees to think creatively. It is only the thinking power of the
employees that creates a great organization. Suggest how the leader
should encourage thinking in the organization.

What do you mean by ‘decision-making under risk’ ? Explain the methods
by which one can arrive at the optimum strategy under risk.

Discuss pricing and output decisions under monopolistic competition.

Explain the Planning — Programming — Budgeting System (PPBS) as a
method of specialized budgetary control.

o
v



6x15=00

g —
R

EoTe 150

B ]
Lyl vdvibew W

RN

G E
@ e
=28
s
ﬂ._.d, -
¥
=
3 ."N\w
s (%]
iR
3 o
z
i) J\\w
P
=W
c i
Y 0
73} A.Ju
13
2
]
oy
C\m
ﬁu Hy
o H
oA
g P
e
S
Lus =
\ T
[ n.u__
el )
S
e
Lis JU\_W
S S
S
FR)
Tu -
. @
R
Py 12
o5
SIS
@
QJ_._ - w
BE

u..m.
/9]
13

54

Zrien

PRt P

=

Rt
)
[

Ao o

o et e

D)

4
5

OFUTLIE,

T

L]

i .w

~e
RO

shylat
12

et~
::u;")‘ D

=%

2
3T
ST

afetel

N emramon

SlcTate
e

S

ﬁ:&uﬁ

NOESRATEN

]

conflict)

(Role
Tomod e @
]

B

&

et
)

wis]

)
=

ooy 7 wodach Tom

)

-~
—

g, PETE O
SET0A.

o o

[ PR

)

~
3

=
Ld

B

LAY

2

&

LS

TORTTIITW, I,

-

ol

afnplanictag

Al

-3
W

ﬁ..w iyt

5
539
kS =Y
B O

0

g 13

»
v 3
h -
Mﬁ uw.um )
3 .m
S K ag
. .ﬂ.ln_ By
§ v
G@L. \)..— A..-N
5B
S
s o 7y
oW
yXE 3
o &
91 " K
g k8
o
5 g
Row 2
» 3
Dy oW
|Tn P.v \N
oo ._\M
o B )
B2k
s S !
s IS
w ok w3
o
- W
C.w o :wnuw
ﬂﬂw ay B3
w1 3
.
A
m.mv 01 M
EC SR B

ARELoW!

=

ATDAL

3.

‘o3med

=

-
-

wprfarialel

&
(PPBS) on B

=

o I3

[Turn over



301 {8)

PART D Ix30=9U

Answer any three of the following questions, each in about 300 words.
Fach question carries 30 marks.

‘A Post-Completion Audit (PCA} may serve as a major vehicle for project
analysis and also help to reinforce the learning curve for the
organization. — Do you agree with this statement ? Substantiate your
arguments focusing on the purpose of PCA, its design procedures and the

strategies employed.

‘Change for the sake of change is no change at all.” — Comment on this
statement and show why change for the sake of change would be

detrimental to the health of the organization.

‘Trust is the basic foundation of preventing or reducing conflict’. —
Explain this statement and suggest some metheds by which trust can be

built at various levels among the people in an organization.

A person wants to invest in two independent investment schemes, A and
B, but he can undertake only one at a time due to certain constraints. He
can choose A first and then stop; or, if A is not successful, then take B or
vice versa. The probability of success of A is 0-6, while for B, it is 0-4. The
investment in both the schemes requires an initial capital outlay of Rs.
10,000/- and both return nothing if the venture is unsuccessful. Successful
completion of A will return Rs. 20,000/~ (over cost) and successful
completion of B will return Rs. 24,000/- (over cost). Draw a decision tree

and determine the best strategy.
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5. In a partially destroyed laboratory rccord of an analysis of correlation
data, the following results only are obtained :

Regression equations are :
8X —- 10Y = 64
40X — 18Y = 320
I'ind
{i) The mean values of X and Y.

{ii) The coefficient of correlation between X and Y.
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